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#l(x—y)(~a-b-c)=—(x-y)(a+b+c)
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(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
(9)
(10)
(11)
(12)
(13)
(14)
(15)
(16)
(17)
(18)
(19)
(20)
(21)
(22)
(23)
(24)

(25)

4x—28

6a+12b—24c

25x% —75xy +1000y
25x* -16)°

0x* —12xy+4y*

9x°y* +6x°y* +9x°y’
xXyz+xz—yz

ax +2ax* +2a—-3ax
104> —10000a°b

22 +12x 436

16x* —8x+1

(ny)4 —(ny)3 +(2xy)2
9—x’y
4x* -16

4x2y2 +8xyz + 47*
2%’ —6x” —4x

2x% +4x —3x>

X +3(—4x+12)

99x* +132x +44
—x? _xy_yz —x

2014xy” —159xy
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(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)

(9)

(11)
(12)
(13)
(14)
(15)
(16)
(17
(18)
(19)
(20)
21
(22)
(23)
(24)

(25)

X’ +5x-6
x2=5x+6
x?—4x-21

x> +13x+40
x*—x-90

x +11x—42
—xt—x+42

x? ~14x-72

x” —2014x +28000
x? +1005x—2014
x? -125x+2014
6x> +13x+6
6x>—37x+6

6x> +15x+6
2x%=3x -2

17x% +25x 18
280x* —34x+1
20x* —2014x +1400
2014x* —15x -1
x*y® +5xy—36

x* +13x%y* +36°
x' —13x% +42
2x*+x* —15x7
33x'y? +28x°y” = 5°

4x*—14y" —240x7y* +2014y"




#e4la KEMa s — IR NO. 3
(1) (x-y)y—x+y
(2) xyz+xz—yz—z
(3) (xzy—x))+xy2)+(l—x—y)
(4) x*~(y—-4)
(5) a(x—y)=b(y—x)—cy+ox
(6) 4(x2+x)2——4x2—4x+1
(7) 2(2x*-1) -8
(8) a (x+1) +4(a+1)(x+1)’
(9) ¥ +x" +x+1+2x+2
(10) 9x*—4y” +24x+16
(11) ax’-a’x+a’ ~a
(12) x*-(a+b)x+ab
(13) 2x*+(a+2)x+a
(14) x* +(3y+2)x+2y” +3y+1
(15) x*+xy—2y" +2x+7y-3
(16) 4x*—4xy+y* +12x—-6y+9
(17) 4x' +3x> +1
(18) x*-12x*+16
(19) 3x*-24x>+48
20) (x-1)'+4
21) (3x—4)y*+(3y-4)(3x-4)
(22) x*y(z—1)-x(y" +z-1)+y
23) (Sx+6y+5)" —(2x+3y+2) +4(x+y+1)
(24) (x+y+l)2+(x+y+1)(x+y—1)~2(x+y—l)2

(25) ax3+(a+1)x2+(a+l)x+1
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(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
(9)
(10)
(11)
(12)
(13)
(14)
(15)
(16)
(17
(18)
(19)
(20)
(21)
(22)

(23)

(24)

(25)

X427

8x® - 64y’

X +3x" +3x+1

X +3x —3x -1

x* +4y* +92° +4xy +12yz + 62x
x> +8y°2° +6x7y’z” +12xy" 2"

X +4x" +x—-6

X —11x+6

2x° =5x* ~Tx—2

x4+ —1+3xy
x3+y3+z3~—(x+y+z)3—3xyz
X +5x y+6x° Y + 657y + 50" +
x*+2x" =21x* —6x+9

2xt 4 -2x  +x+2

x* —2x* ~1005x* +2014x-2014
x(x+2)(2x+3)(2x-1) -8

(7 +4x+3)(x* =8x+12) - 40x’
(x+y)(y—z)(x—z)—xyz

xy* =y’ =2xy+x+2y—1
4-12x+9x* —~10x” +15x” + 4x*
(x+2y)3—(4x—-6:z)3+(3x—2y~6z)3
2x' +xt —x+1
8x3+y3—4(x—14)—2(12x+1)y
x> =36x" =939x +2014

x(x4 —7x2)+x3 +5x-3

4




